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1 BLOCK HE&SC |tLRTREJIC| BEAHFC |[RLAA-ULA1| | o= [#E= PK|IES
HE&SC (A7) 1 - 1(B4) 0 - 3|(A2) 1 - 4| 1| -6 2 4
tLATREIFC)(AT) 1 - 1 (A8) 2 - 1|(A4) 0 - 3| 4 |-2]|3 2
FHRFHFC |B4) 3 - 0|(A8) 1 - 2 (A6) 0 - 3| 3 |-1] 4 3
RlA0-yL42)(A2) 4 - 1[{(A4) 3 - 0|(A6) 3 - O 9 | 9|10 1
2 BLOCK KHKFC [NSSS*HJFZX| NFC-I5V % = 1:;:; #&m| PK | JBfL
KEFC (A1) 6 - 0[(A3) 1 - 4 33| 7 2
NSSS*JF+Z|(A1) 0 - 6 (A5) 0 - 7 0 |-13| O 3
NFC-35> [(A3) 4 - 1[(A5) 7 - 0O 6 | 10 | 11 1
3BLOCK | <©TXFC | NFCHRY |[NSSSTz=wsz ] o2 [ere] PKIEf
tXFC (B1) 4 - 0((B6) 0 - 5 3| -1 4 2
NFCH+7KY |(B1) 0 - 4 (B3) 0 - 4 0|-8|0 3
NSss7z=v/Z|(B6) 5 - 0|(B3) 4 - 0O 6 [ 99 1
4BLOCK | ZEBFC |ALAm-k7—i|NSSSI—FILR BAa] 2 [ems] PK]IER
=EiFFC (B2) 1 - 0[(B7) 3 -0 6 | 4| 4 1
ALqm-zho—1|(B2) 0 - 1 (B5) 0 - 1 0]|-2]0 3
NsssA—JLZX|(B7) 0 - 3|(B5 1 -0 3 [ -2 1 2
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